1. =5 4019 S7H8AlE A4 gy
W ESMHE FuA ci] wig =g STIEE M FLACH| B/ A
" ACEM) (%) 2H|2Hke) 2t —B("%) (%) (%)
1979 225.3 126 6.0 2,650 (105) -
1980 2418 107 6.3 5,779 218 2.4
1984 3395 115 8.4 8.830 123 2.6
1985 346.3 102 8.4 13,707 155 4.0
1986 320.4 a3 7.7 17,195 125 5.4
1987 3726 116 89 20,951 125 56
1988 425.4 114 10.1 32.659 156 7.7
1989 471.7 m 111 42,279 129 9.0
1990 505.0 107 1.8 58,491 138 8.6
of | 79-90 2.2 108(LH) - 22,004 133
Z/lg | 85-90 1.3 107(ET) - 6.64H 138
DOE HURE ] 0% F5.
@ W0AT =K 7.8% ALE.
*AE  FHEUS, S 208
o ] 37 3L =&
2' “'T7 [e} /%‘] /E_ 1..'%]‘
(2 1 %)
: DARIFR E & Hjolzix M= TE (VER| & A | OiSEEMAX
72 | &2 | muH|| B2 | MU | B2 | ®M9e| | S | dJ0H| | B8 | § A dgd] W
() | Bk | () [Tk | (n) (BB () [ B018 | () | (W) | B8
1979 1,473 773 72 1331 2,649| 100
1980 1,895 129 728 9% 801 111 3075 929 5649| 218
1981 3083 163 1,101 151 155 194] 248 8 4,587 79
1982 2,335 76| 1,480| 134 183] 116 885| 357 4,883| 106
1983 2620 112| 2499 163 505] 183] 1,541 174 7,165 147
1984 3295| 126| 2,661 1061 307 61 2667 173 8,830| 123
1985 5385| 163| 4,369 164 280 91| 2,661 100| 1,012| 13,707| 155 32,430
1986 5904 110| 4849 111 288 103] 2618 98| 3,436| 17,195| 125 34,500
1987 77481 131 7,203| 1491 417 145] 3,301| 126] 2,287 20956 | 125 35,100
1988 | 15068| 194 11,977 166 516 124 41T 126| 927| 32659| 156 35,400
1989 | 20499| 136| 16435 137 530{ 103 4,118 99| 697|42279| 129 | 36,489
1990 | 27,698| 135 23,013 140| 601 13 7179 174 — | 58,491| 138 37,589
1991.6 | 16,689 — | 14,608 - 29 -1 4424 - —| 35,708 - 17,074
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o .y e
3. UEH &7 = 8%
(T M4, US$ 1,000)
He F £ ook R = =3 JEt S &t A
FEt| Y T2 =9 g = T 2 =N o2 =
1978 22601 | 15,096 - - 1,809 1,080 | 24450 | 16,176
1979 13 43| 21,708 | 23650 324 1,126 598 281| 22,643 | 25,100
1980 13 48| 8678 8,528 252 900 415 907 6,358 | 10,383
1981 - - 6214 | 662 - - 91 130 6305 6,750
1982 3 69| 5344 7,448 - - - - 5,347 750
1983 8 149 6,988 7,976 - - 61 206 7,057 8,331
1984 5 123 8,031 10,565 296 1,044 290 983 8,622 12,715
1985 31 509 9436 | 12,191 226 768 31 1,073 | 10,004 | 14,541
1986 19 756 | 10019 | 12852 892 | - 4,472 81 256 | 11,011 18,336
1987 34 657 | 10,708 | 13,559 3,161 15860 587 1,860 | 14,490 | 31,936
1988 73| 2016 | 14707| 20042 7937| 40,658 880 | 3490 | 23597 | 66,206
1989 65 1,082 14,790 20,213 12,276 57,585 1,534 4,514 28,665 83,394
1990 58 1626 | 13935 18,947 5877 | 31,680 882 | 2421| 20752 54,674
1991. 9 2536 | 15077
¥ TE ERE WERS 9001 315%, 91 6K 404Y% 119l= HE UEROZ TE s

o] A - =
4, U=H 557 $Y 93
(Ebel : %, US$ 1,000)
He ? = Hots = £ 7| Et g & A
7y | 29 | 22 | 29 | 4% |29 sz [ =29 | 28 | =9

1978 15,253 | 51152| 40,004| 34049| 6744 18590 | 661| 747 | - 92662 | 104538
1979 12,746 | 64243 | 35748| 34221| 10323 | 27.691| 498 | 75| 89315 127,130
1980 1834 | 6227 | 12602| 13,39 a0 72| 342| tsiz| 19974
1981 2604 | 63287 11,618 12,337 12| 46| 59| 215| 44293| 75885
1982 72913 | 130203| 8111 8768 29 08| 13| 54| 81,086 139,131
1983 54635 | 124218 | 11221| 9826 47| 75| 101| 468| 66010 135687
1984 2,367 | 53673 12,145 11,168 72| 232| 107] 295| 44691 65368
1985 2318 | 8901| 17.281| 13701 9| 253| 105| 294| 19800| 23149
1986 521|  2422| 15273 | 11,592 n7| 36| 99| 25| 16010 14574
1987 600 2728| 16835| 12,698 21| 74| 23| 60| 17,700] 16,150
1988 12349 | 45489 | 26,083 | 18,449 87| 90| 197| 432| 38676] 64,460
1989 79349 | 224551 | 26334 19015 21| 89| 625| 1972| 106688 | 245627
1990 | 104122 | 301,740 | 23,965| 19,308| 2583 | 6358 | 7,750 | 14,410 138420 | 341,816

9.6 3836 | 12,528

*ESTR A2 91 21,000% HEUCL 10HFE SKIE.




5. U] EX5718t Fo7e A57H

(2] -2/ kg, %)

7 B 3 = g = o = dota s of 01=
87-89 W H # 1,806 2,551 798 1,146 226
90 d 2,574 2,201 828 1,025 311
-3 ¥z 2,084 1,905 671 1,045 311
4-6 ¥ oz 2,835 2,293 950 1,105 298
7-9 ¥ ¥ 7 2,752 2,452 819 1,069 336
0-12 & o # 2,620 2,062 959 881 273
91 ¥ 2,933 2,658 882 1,065 333
1 8 ¥ o7 2,978 2,118 1,024 931 290
2 ¥ ¥ 7 2,814 2,413 914 978 308
3 H ¥ T 2,713 2,344 928 1,014 292
4 ¥ ¥ T 2,681 2,630 907 1,039 295
5 ¢ ¥ 7 2,956 2,846 903 1,093 327
6 & ¥ 7 2,145 3,026 904 1,159 348
7 ¥ T 3,160 3,190 810 1,120 390
8 & ¥ 7 3,019 2,694 668 1,080 452
(e)
6. =5 A7|¢E A%
(55548 E2Y M2 Moo 914 8d)
T = chl god | oo | o 924 T
= E 32(A) ME 472 505 520 587
= 712 £2(B) ME 25 35 45 58 | SBIEE5YXERT0%
H|E(B/ AX 100) % 53 6.9 8.7 99
u HYAMEF S HE 4,500 5,258 5876 6,633 | 911 6HUMIXI EHR|
AARR = £(0) HE 4,801 4,528 5,069 5,650 | 924 322 &8 FHI|
i e = ME 301 ~730 —807 ~983
21872 5 @ HE 323 35.7 435 | 1 M2 2265 A2
£ | 8| 2 % 6.7 -13.9 —18.2 —22.2
E |24 |82 T #p | T 937 | 1318 | 1695 | 2,185 | 15°E 60% 0|8
£ | HIg(pb/ cx100) % 10 14 16 19 | AIBSEx 128 x68
o « L
7. A ALG T Sre) AR 24 8 Al £ 54
(e & 5)
HY AR | FEAR | AW EBA M H| il
T FFAB) | FR(*) F 5 (%)
A B I (c=A) | (c-B)| " FHAR F $££ 91. cAHZM Fas
9.2 | 5050 - 4,528 ~522 —| TR
916 5,876 _ 4636 1,240 — | 24 BH F = SHEYS| SMHR.
919 6,065 4,760 5,069 —996 309 | 3 91 %l & F 7=
91.12 6.254 5,100 - - = OHPAS T 2 968T £5
92.3 6,443 5,150 - - - @ &8 F 5 Hrl= 0% F 75
926 6,633 _ — _ — ] 1926 FH AR F = 2 78I UB.
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O =y

8. TEH o=l 3
JhLaRE AR E S (2] :3)
T g 881962 (A) 91:462(B) xto[(A-B) S1U2(%)
g E = 7t 1005 ojat 216,724 117,578 -144,146 -55
(a) @ & & E ) 1005005 6,804 7,435 1,351 22
by @ & & = 7} 500~ 1,000F 581 1,084 503 87
7o & E L 1,0005 O[4 277 39 119 43
) Al 268,666 126,493 -142,173 -53
Lh 2 AR T (&9 %)
T 2 88462 (A) 91168 (B) A}0|(A-B) Z=7242(9%)
¢ E =5 7 1005 Oj2t 2,010,891 1,107,413 -903,478 -43
(a) ® & & E JI 100—500F 1,324,827 1,748,062 423.235 32
(b) ® o & E 7} 500~ 1,000 388,692 722,481 333,789 86
g g = 1,0005 of&t 882,690 1,058,403 175,713 20
&t A 4,607,100 4,636,359 29,259 1

D Szl IE AR gehet 57F £ Alel,
(1) Sois A2 YEIl= HREIRPL SRIN0} 298 S| BT AKSES 559, ARRTAE 45957} U

(2) =, 71 vk

o] =e)

[ ey

| 587| ojz2

27T x T T HS

2 ol B e

(3) 97% RIX|5te Y=z7io| U= Z7|of| HIGH, 3955i0l A=l 8,91582] MY, 7| U=rle| FZet SAZX|
ol st 7(CH ojde] Alg F 57t K| &
== = 37

9. A= 4 FFEA

(B9 %)

2 3 7 s X 3 7
+ 2 EEFE Us A k= U= A

90 14 A B T|(A) 269,238 218,554 487,792 | 4,284,086 ~| 4,284,086
914 A HE J|(B) 252,689 300,240 553,029 | 4,013,347 86,298| 4,099,645
= ZHA-B) -16,549 81,786 65,237 -270,739 86,298  — 184,441
= # (%) -6.1 374 134 6.3 - -4.3

DAZ 58 525
2) AWz SEF5 BV I 222 XIS 2,0002/ keEollAM 2,2508/ kelHZ A&
3) =82 MU SE2T0| |7 AHIBV} 2018 TRISIK| M 184,44157t RRED B3, WRM =S,
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10. =857 A7 s 1909 &n)F
(&9 kg, XIB TIE)
I Y |g3—HE| 8(a) 87 88 89 90(B) | 91(C) | ¢/ A% | ¢/B(%)
A 3 7 49 5.0 46 46 5.1 5.5 112 108
Bt = | H X 27 7.7 8.8 9.9 10.6 118 12.8 167 108
(D) g 1 7| 30 3.2 3.3 3.7 39 40 133 103
A 156 17.0 17.8 18.9 208 223 143 107
A 1 7 49.8 41.8 41.3 45.0 441 45.9 92 104
aj = | X 17 28.4 30.5 30.5 30.2 29.0 31.1 110 107
(E) g 1 U 258 216 28.4 30.2 318 348 135 109
Al 104.0 105.9 106.2 105.4 1059 111.8 108 106
2 1 7 6.8 7.2 7.3 8.0 8.5 8.9 131 105
ol 2 =X 37 15.3 16.2 16.6 16.7 17.1 17.1 12 100
) = N ) 1.8 126 13.1 135 13.7 138 17 101
Al 339 370 370 38.2 39.3 39.8 17 101
-~ | 0.5 0.7 0.8 0.9 1.0 1.0 200 100
ES ER: PNyl 16.8 16.9 18.4 19.2 19.1 19.2 114 101
g 1 7 0.0 1.3 1.7 1.3 15 16 - 107
A 17.3 18.9 20.9 214 216 218 126 101
e~ 1 | 309 31.0 29.7 29.8 28.9 28.4 92 98
=z 2 A gR a7 338 330 334 374 313 37.1 110 99
o 1 7 99 9.9 10.2 107 109 1.0 1 101
A 746 73.9 733 719 7.1 76.5 103 99
A 1 7 013 39.8 39.8 39.3 39.1 39.2 103 100
b o b =Rz 335 33.2 339 340 33.2 334 100 101
g 1 7] 205 21.7 226 224 22.9 23.1 13 101
Al 95.1 94.7 9.3 95.7 95.2 95.7 101 101
A 1 7 2.2 2.2 25 26 2.5 26 118 94
CH gk | = X] 17| 379 374 36.5 37.2 38.9 36.4 % 104
5 1 7] 129 14.4 15.7 17.3 18.7 19.3 150 103

Al 53.0 54.0 53.7 57.1 60.1 58.3 110 97
B2 |2 T 7 10 10 10 10 12 12 s= o], 2o
o] =2(p/ E) | X 7] 27 29 32 35 41 41 Chulstod 29,

(et 9:9%) | 3 71| 12 12 12 12 12 1" (86~91)

Al 15 16 17 18 20 20 o|=8rC} 1392874,
st=2 el |4 1 7| 72 69 63 58 60 62 QU=HCL 129450 18t
o 2(p/F) | X 17| 50 54 60 63 69 75
(b 9:%) |&f 1 71| 2 25 25 21 28 29

A 46 46 48 49 53 56

L2 : USDA(90. 10) "912 ZHR|
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